
 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

Complete these:  

10 ÷ 5 =      2     10 ÷ 2 = 

 

8 ÷ 4 =      8 ÷ 2 = 

 

12 ÷ 2 =      12 ÷ 3 = 

 

 

      2 )1   4              2 )1   2 

 

 

    2 )1   8        2 )8 

 

  

There are 27 fish in 3 fish tanks. How many fish are 
there in each fish tank? 
 

    27 ÷ 3 = 9 
 

  There are     9    fish in each tank. 



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

Complete these:  

12 ÷ 4 =       18 ÷ 2 = 

 

14 ÷ 7 =      12 ÷ 6 = 

 

16 ÷ 2 =      18 ÷ 9 = 

 

 

      3 )1   5              3 )21 

 

 

    3 )9        3 )2   4 

 

  

There are 28 bananas which are to be equally put in 2 
baskets. How many bananas should be put in each 
basket? 
 

       ÷             =  
 

  There are         bananas in each basket. 



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

Complete these:  

20 ÷ 5 =       20 ÷ 4 = 

 

20 ÷ 2 =      21 ÷ 3 = 

 

21 ÷ 7 =      24 ÷ 3 = 

 

 

      4 )1   6              4 )36 

 

 

    4 )2   4        4 )40 

 

  

If 5 shelves altogether have 40 books, how many books 
are there in each shelf? 
 

        ÷    =  
 

  There are         books in each shelf. 



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

Complete these:  

24 ÷ 6 =       24 ÷ 4 = 

 

24 ÷ 8 =      45 ÷ 5 = 

 

10 ÷ 5 =      36 ÷ 6 = 

 

 

      5 )1   0              5 )1   5 

 

 

    5 )4   0          5 )2   5 

 

  

A group of 48 children go for picnic in vans having 8 
seats. How many vans were used?  
 

        ÷           =  
 

           vans were used. 



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

Complete these:  

36 ÷ 6 =       28 ÷ 4 = 

 

28 ÷ 2 =      63 ÷ 7 = 

 

50 ÷ 5 =      81 ÷ 9 = 

 

 

      6 )2   4              6 )5   4 

 

 

    6 )3   6        6 )1   2 

 

  

Saba requires 3 metres of lace for a dress. If she has 27 
metres of lace with her, on how many dresses can she 
use the lace? 
 

         ÷           =  
 

  Saba can use lace on            dresses. 



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

Complete these:  

60 ÷ 6 =       21 ÷ 7 = 

 

42 ÷ 6 =      32 ÷ 4 = 

 

24 ÷ 8 =      16 ÷ 8 = 

 

 

      7 )1   4              7 )2   8 

 

 

    7 )4   9        7 )6   3 

 

  

Roshan cut a 18 centimetre long strip of paper into two 
equal parts. What is the length of each strip? 
 

    ÷          =  
 

  The length of each strip is            centimetre. 



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

Complete these:  

20 ÷ 2 =       40 ÷ 8 = 

 

30 ÷ 5 =      40 ÷ 5 = 

 

20 ÷ 5 =      40 ÷ 4 = 

 

 

      8 )6   4              8 )7   2 

 

 

    8 )2   4        8 )1   6 

 

  

An Oil tin contains 72 litres of oil which has to be poured 
equally into 9 small cans. How much oil should be 
poured in each can? 
 

        ÷    =  
 

  There is         litres of oil in each can. 



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

Complete these:  

15 ÷ 3 =       12 ÷ 2 = 

 

66 ÷ 3 =      24 ÷ 2 = 

 

44 ÷ 4 =      48 ÷ 2 = 

 

 

      9 )6   3              9 )8   1 

 

 

    9 )1   8        9 )4   5 

 

  

If 64 metres of cloth is required to make 8 dresses, how 
much cloth is required to make one dress? 
 

     
 

    metre of cloth is required to make one dress. 



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

Complete these:  

28 ÷ 4 =       48 ÷ 6 = 

 

28 ÷ 2 =      48 ÷ 8 = 

 

28 ÷ 7 =      48 ÷ 4 = 

 

 

      9 )2   7              8 )4   0 

 

 

    7 )2   1        6 ) 6 

 

  

Tony needs 24 hours to complete the painting. If he 
works for 6 hours daily how many days would he need 
to complete the painting? 
 

     
 

  Tony will need           days to finish painting. 



 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

 

 

Complete these:  

54 ÷ 9 =       12 ÷ 6 = 

 

16 ÷ 2 =      18 ÷ 9 = 

 

16 ÷ 8 =      16 ÷ 4 = 

 

 

      8 )8   0              7 )5   6 

 

 

    9 )7   2        5 )4   5 

 

  

Samina has packed 54 cookies equally in 9 packets. How 
many cookies are there in each packet? 
 

     
 

  There are         cookies in each packet. 


